

کتابت شده ۲۳ ۲۰ از دهم دفتر B

$$\log_m^n = a \quad \log_{mn}^{m^2n} = b \quad (1)$$

$\hookrightarrow \frac{\log m}{\log n} = a$
 $\hookrightarrow \frac{2\log m + \log n}{\log m + \log n} \div \frac{\log n}{\log n}$
۵

$$\frac{\frac{2\log m}{\log n} + 1}{\frac{\log m}{\log n} + 1} = \frac{2\log m + \log n}{\log m + \log n} = \frac{2a + 1}{a + 1} = b$$

$$\Rightarrow 1 \leq \underbrace{\frac{a+1}{a+1}}_1 + \frac{a}{a+1} < 2 \rightarrow [b] = 1$$

الف) $y = \sqrt{\frac{x}{\log \frac{x}{\frac{1}{x}}}}$ $\frac{x}{\log \frac{x}{\frac{1}{x}}} \geq 0$

$$\frac{0}{-p+} \mid \frac{1}{0-}$$

$$(0, +\infty) \cap [0, +1) \Rightarrow D_y = (0, 1)$$

ب) $y = \frac{\log(x^2 - x - 2)}{\sqrt{x^2 - 1} + 1}$

$\textcircled{I} \rightarrow x^2 - x - 2 > 0 \rightarrow \Delta = 1 + 8 = 9 \quad x = \frac{1 \pm 3}{2} = 2, -1$
 $\frac{-1}{+p-} \mid \frac{2}{0+} \rightarrow (-\infty, -1) \cup (2, +\infty)$

$\textcircled{II} \quad x^2 - 1 \geq 0 \rightarrow x^2 \geq 1 \cdot \begin{cases} x \geq 1 \\ x \leq -1 \end{cases}$

$\textcircled{I} \cap \textcircled{II} \rightarrow (-\infty, -1) \cup (2, +\infty)$

$$x \log a + \log a^{\sqrt{x}} = r \quad x=9 \quad (1)$$

$$x \log a + \log a^r = r \Rightarrow x \log a + \log a^r = r$$

$$= \frac{1}{x} \times r \log a + \log a^r = \log a^{\frac{r}{x}} + \log a^r = r \quad (5)$$

$$t + \frac{1}{t} = r$$

$$\Rightarrow t^2 - rt + 1 = 0 \Rightarrow (t-1)^2 = 0 \Rightarrow t=1$$

$$\log a = 1 \Rightarrow \underline{a=3}$$

$$(\log \frac{a}{r}) x^r + (\log a) x - \log a = 0 \quad (1)$$

$$\left((\log 10 - \log 2) - \log 3 \right) x^r + (x \log 3) x - ((1 - \log 3) + \log 3)$$

$$\Rightarrow (0.13) x^r + (0.11) x - 1.1 = 0 \quad \text{با حذف 1.1} \quad \frac{\sqrt{\Delta}}{1a}$$

$$\frac{\sqrt{(0.11)^2 + 4(0.13)(1.1)}}{0.13} = \frac{\sqrt{0.0121 + 0.572}}{0.13} \quad (5)$$

$$\Rightarrow \frac{\sqrt{0.5841}}{0.13} = \frac{0.764}{0.13} = \frac{5.87}{1}$$

$$\log \frac{r}{a} = 0.12 \quad \log \frac{r}{r} = 0.11 \quad (2)$$

$$\log \frac{10}{11} = \frac{\log 10}{\log 11} = \frac{\log a + \log \frac{r}{r}}{\log r + \log \frac{r}{r}} = \frac{r+1}{r+1} = \frac{r}{r+1}$$

$$\log \frac{r}{a} = 0.12 \Rightarrow \frac{1}{\log \frac{a}{r}} = 0.12 \Rightarrow \log \frac{a}{r} = 8 \quad (5)$$

$$\log_a a = 1/a$$

$$\log_r r = 1/r$$

(S)

$$\log_a a \rightarrow \frac{\log_r a}{\log_r a} = \frac{\log_r r + \log_r a}{\log_r r + \log_r a} \rightarrow \log_a r \times \log_r r = \log_r a$$

$$= \frac{1 + 1/r}{1/r + 1/r} = \frac{1/r}{1/r} = 0/a$$

(V)

$$\log_a a = m$$

$$\log_r r = ?$$

$$(1) \frac{1}{r} (\log_a a) = m \Rightarrow rm = \log_r a + r \log_r r$$

$$\Rightarrow \log_r r = \frac{rm - 1}{r}$$

$$\log_a r = \frac{1}{r} (\log_r a + \log_r r) = \log_r a + \frac{1}{r} \log_r r$$

$$1 + \frac{1}{r} \left(\frac{rm - 1}{r} \right) = 1 + \frac{rm - 1}{r} = \frac{rm + r}{r}$$

(A)

$$(1/r)^{r-1} = \left(\frac{1/a}{r} \right)^{r-1}$$

$$\log_a (1/a) = ?$$

$$\left(\frac{1}{r} \right)^{-r+1} = \left(\frac{1}{r} \right)^{r-1}$$

$$\begin{cases} n = -1 \\ n = \frac{1}{r} \end{cases}$$

$$\log_a (1(-1)+1) = \log_a -1 \rightarrow X$$

$$\log_a (1(\frac{1}{r})+1) = \log_a \frac{r}{r} = \frac{r}{r} \log_r r = \frac{r}{r}$$

$$\log_r r = a$$

$$\log_r b = \frac{r}{r} (1+a)$$

$$\log(rb-1) = ? \quad (9)$$

$$\frac{1}{r} (\log_r b) = \frac{r}{r} (1+a) \Rightarrow \log_r b = r + r \log_r r$$

$$\log_r b - \log_r r^r = r \log_r r \Rightarrow \log_r \frac{b}{r^r} = \log_r r$$

$$\Rightarrow \frac{b}{r^r} = r \Rightarrow b = r^s$$

$$\log(rb-1) = \log \frac{10-1}{10} = r$$

(10)

$$-fan^r + bn + \frac{1}{r}c = 0$$

$$\text{or } \frac{fan}{b} = \log r = r \log r$$

$$\frac{a}{b} = \frac{r \log r}{r} = \frac{\log r}{r}$$

$$ra = b + c$$

$$\rightarrow ra = b + c \Rightarrow \frac{ra}{b} = 1 + \frac{c}{b} \quad r \left(\frac{\log r}{r} \right) = 1 + \frac{c}{b}$$

$$\begin{cases} \frac{c}{b} = -1 + \log r \\ \frac{a}{b} = \frac{\log r}{r} \end{cases} \rightarrow \frac{c}{a} = \frac{-1 + \log r}{\frac{\log r}{r}} \Rightarrow \frac{\log r - \log b}{\frac{1}{r} \log r}$$

$$= \frac{\log \frac{1}{a}}{\frac{1}{r} \log r} = \log \sqrt[r]{\frac{1}{a}}$$

$$\left(\frac{1}{\sqrt[r]{a}} \right)^{\frac{r}{r}} = \left(\frac{1}{\sqrt[r]{a}} \right)^{\log \frac{1}{\sqrt[r]{a}}} = \left(\frac{1}{a} \right)^{\log \frac{1}{\sqrt[r]{a}}}$$

$$= \left(\frac{1}{a} \right)^{\log \frac{1}{r}} = \left(\frac{1}{a} \right)^{\frac{1}{r}} = \sqrt[r]{a}$$